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Time : 2'4 Hours] [Max,
Instructions : (1) All questions are Compulsory.

(2) Figures to the Right hand side show marks of questions.

(3) Simple calculator can be used.

(4) Graph paper is given by request. ‘
I. (A) Define term integration and state any four standard rules Also state

uses of integration.

(B) Integrate following : g v
(A) fin gration”. Also state properties of definite integration. 7
following : 7
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2. (A) Under which conditions Binomial probability distribution tends to Poisson
distribution ? State properties of Poisson distribution. 7

(B) There are total 50 misprints in a book of 100 pages. If a page is selected at
random, find the probabilities that (i) there will be no misprint in the page

(ii) there will be 2 misprints (iii) there will be atleast 2 misprints. (e = O.ﬁw 7

OR 0

(A) State probability mass function of Hyper Geometric distribution. Also

properties.
(B) There are 40 bulbs in a lot and 10% of them are defective bulbs s arg take
one after the other from it. Find the probabilities that 7

(1)  None of the bulbs is defective.

(11) At the most 2 bulbs are defective in them.

3.  (A) Discuss the different causes of variations manufactured product. 7

(B) Draw X and R charts and state y t process from the following

data : "

Sample No. 3 6 7 8 9 10

X 14 136 | 139 | 143 | 141 | 140 | 141 | 142

R 13 ¢ 11 0 1 1F | 12 ] 13 | 11 14 | 12

[A; =0.538, Dy =0, D, =2.12]
OR
ite short notes on :

p chart (11) C chart ¢

samples each of 100 items are drawn from a production process. The number
of defective items in the samples are respectively 12, 10, 15, 11,9, 4, 8, 5, 2 and 14.

Draw chart for proportion of defective and state your conclusions about process. 7
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4. (A) Whatis acceptance sampling ? Explain advantages of it. 7

(B) For a single sampling plan (50, 10, 1). find Producer’s risk and Consumer’s risk if
AQL =0.02 and LTPD = 0.06. 7

OR

(A) What is an O.C. Curve ? State its properties.

&

(B) For a single sampling plan (1500, 150, 2) if P' = 0.02 then find ASN, M
AOQ. (¢ = 0.05).

5. Answer the following : (any seven)

(1) Iff(x)=2and f(x)=e"* then ﬁndf f(x) dx.

|- i
15

L (2) Find the value of f Sx dx.

| 12

(3) IfMR =10 + 3x2 then find tot ction.

(4) For Poisson distri‘ fi

(5) For Poisson vag - = 2) = P(x = 4) then find Parameter of Poisson

distributio
(6) ForP ion if mean = 4 then find P(x < 1). (¢ = 0.0183)
metric distribution m + n = 100, m = 2 and mean = 0.4 then find r.
o types of variations are there in Quality Control ?

art 1f C.L.. = 25 then find UCL and LCL of ‘C’ chart.

) State any one difference between p and np chart.
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(11) Which probability distribution is useful in calculating the probability of
acceptance (P_) ?

(12) What is said to be maximum value of AOQ available from the graph ?
(13) For single sampiing plan (1500, 150, 0) if np' = 2 then find P,. (e7%=0.1353)

(14) For single sapling plan (1000, 100, 0) if P = 0.6065 then find ATI.
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